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Question No 1 : Choose the right answer ( 18 Marks)
1. To model a dielectric medium, a/an............... stub is used. (a) short circuited
(b) open circuited  (c) matched (d) none of the above
2. To model a dielectric medium, a stub of length ....... Is used.
(a) Al (b) Al/2 (c) 2A1 (@) A4
3. To model a lossy medium, a ......... stub is used. (a) short circuited
(b) open circuited  (c) matched (d) none of the above
4, To model a lossy medium with 6=3, a stub with characteristic admittance....... is used.

(@)6AlZ, (b)6AlZs/2 (c)26AlZ, (d)sAlZ/4

5 To model a dielectric medium with £=4, a stub with characteristic admittance..... is used.
(2) 10 (b) 11 (c) 12 (d)13

6. The phasor form is : A; = -j e¥**the corresponding time varying form is :
(a) cos (wt—3z+m/2) (b) cos (-n/2 -3z+wt) (c) sin(n/2 — 3z + wt) (d) sin(wt—3z).

7. The time varying form is : 3 sin (wt + 3x), the corresponding phasor form is :

(a) 3 ej(3x-1t/2) (b) 3 e—j(3x-1r/2) (C) 3 e-j3x (d) 3 e+j3x
8. The equatlon - 1!) = k—a?z— is (a) Poisson’s equation (b) Wave equation (c) Diffusion equation (d) Laplace
9. The fields E,, Hy , and Hy are
(a) TE wrt Y-axis (b) TE wrt Z-axis (c) TM wrt Z-axis (d) TM wrt X-axis
Question No 2: Choose the right answer - ( 16Marks)
1. When voltages V1 ---,,\V2 = ,KVg =V} = E,/2 are applied to anode (m,n) , an ...... is
imposed (a) electrlc field with magnitude E, in y-direction  (b) electric field with
magnitude 2E, in y-direction (c) electric field with magnitude E,/2 in y-direction

(d) electric field with magnitude 2E, in z-direction

2. To impose magnetic field Hx = Ho at node (m,n), apply .............ccooeeee.
(a)kV4 = kVZ =H,/2 (b) kV3 = _KV1 =H,/2 (c) kV4 = V\V1 = H,
@) kVi = V3 = Hp

3. Animpulse, V{ (z,x) reflected from terminal 1 of anode becomes automat1cally
1n01dent at thenode .......... (a) Kﬂ 3(z x —Al) (b) y (z % = &l)
()3 i (z — AL x) (d) KV3‘ (z + Al x)



4. To impose magnetic field H, = H, at node (m,n), apply ......coeveveennenn.n
@i =i =Ho/2 () Vi= —Vi=Ho/2 (o) Vi=, Vi=H,

(d) (Vi =5 = H,

5. When terminal 4 of node (m,n) is terminated with a perfect electric conductor, the
following condition applies : (2) WV} (m,n) =, V7 (m,n) (b)KV,f (m,n) = Vi (m,n)
QUi mm) = <Vimn) (@i (mm) = Vi (m,n)

6. Animpulse V] (z,x) reflected from terminal 2 of a node becomes automatically
incident at the node .......... | (a)%Vzi (z, %) (b);yj (z — Al x)
(c) V4 (z — Al Xx) (d) (Vi (2 + Al x)

7. An 1mpu1se VY (z,x) reflected from terminal 3 of a node becomes automatically
incident at the node .......... ' (a)kVZ (z,x) (b)}’,}/1 (z,x — Al)
(c) V1 (z,x + Al (d)kﬁljff (z,x + Al)

8. An 1mpulse Vi (z,x) reflected from terminal  of a node becomes automatically
incident at the node ........... (a)szi (z — AL x) (b)hzz’i (z + Al x)
(c)RV{ (z,x) (d) KVZ‘ (z + AL, x)

Question No 3 : ( 18 Marks)

The dispersion of velocity of waves in a two-dimensional TLM network is given by :
Sin [(n/r) (Al/ A)] = (2)1* Sin (7 Al/A)

(2) Find the maximum value for (Al /A) (b) Find the corresponding value for r.
(c)Drawr vs. (Al/A)

Question No 4 : - ( 18Marks)

(a) For the one-dimensional TLM section shown find ( 0 I/ 0z) and (0Vy / 0z).

(b)For a propagating EM wave with components E, and Hy use Maxwell’s equations to find
(0E,/ 0z) and (OHx(0z).

(c) From results of (2) and (b) find equivalences between network and field quantities.
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